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01 AIXSHMENMNEX= 10,000 0 10,000
OSEZHTol A AIES A K& 10,000
=Z24 grx] 2 IOl KF K& 1,703,981 106,372 1,597,609
J| 1,422,964
= 281,017
308 XAHXISH SO0l & 1,696,256 106,372 1,589,884
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O0ls - 4ot Xgdiied 43,200
Dl 43,200

ots ¢tEXE M X 30,202 46,717 AN 16,515
2 23,282
=} 6,970

308 MXISHMSOIA 30,202 46,717 N 16,515
2 23,232
= 6,970

01 IXHHIMNEEXTZ 30,202 46,717 N 16,515
OOts otE™XE ME X3 30,202
= 23,232
& 6,970

SOHDHIIGH A=A 2H 103,500 100, 350 3,150
= 69,000
= 34,500

308 XX EHSOIA 103,500 100, 350 3,150
2 69,000
= 34,500

01 AIXSHMENMNEX= 103,500 100, 350 3,150
OXSO0HOHIoH A 2H 103,500
= 69,000
= 34,500

SOHOHIIGHAF 2 EXSE A 9,715 9,715 0
2 8,000
& 1,715

308 XHXIGHH SO0l & 9,715 9,715 0
= 8,000
& 1,715

01 HXHHNIMNEXS 9,715 9,715 0
OSMHIIHT PEXE A 9,715
2 8,000
== 1,715

AR AMSIEHHE XIS 66,230 66,230 0
= 61,610
o= 4,620

308 AMXISHMSOIA 66,230 66,230 0
= 61,610
= 4,620

01 AIXSHMENMNEXZ 66,230 66,230 0
OWEEOHS AISIEHEM X 66,230
= 61,610
& 4,620




B0l Aes 0y, =2 F= IS5
oy Ao B SRED)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

IIEEY dEL 29 9,000 15,000 A 6,000
308 AHXIEHH SOl 9,000 15,000 A 6,000
01 HIXNHHBNEES 9,000 15,000 26,000

ONE=" &48a 2F 9,000
Ss|E SOH0H O & 3,500 0 3,500
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ostsd 23 700,000 0 700,000

401 AIEHIZ 201 8I 700,000 0 700,000

01 A& Bl 700,000 0 700,000
OXgetsd =xa &l 200,000
OXgatsd MEAE 53| 500,000

HAESZWNE T2 ) 285,000 285,000 0
= 200,000
< 85,000

307 21201 A 285,000 285,000 0
= 200,000
< 85,000

05 RIZt2IEt = 285,000 285,000 0
O3ad h3dus T2 285,000
= 200,000
< 85,000

EtAIERtS EAaENF 83 AT 20,000 20,000 0




2N
X ZH -
L= B

el

(==
Ao s
AEAERH

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
307 glz2tol & 20,000 20,000 0
10 A3l =X 2 X 20,000 20,000 0
OEH Al - 249 HAENIEE ALFA 20,000
SSELESHANLE JsE2Z 4,188,000 1,960,000 2,228,000
= 4,188,000
403 XIS E X201 H 4,188,000 1,960,000 2,228,000
& 4,188,000
01 AXSHM 22 = 4,188,000 1,960,000 2,228,000
OZSE2HFHANE JIs2Z 4,188,000
& 4,188,000
StAZECH HAad NJAANG(HE) 55,000 55,000 0
307 gl2tol & 55,000 55,000 0
10 A2l S X2 X 55,000 55,000 0
OstgscH(an=Ed) 3o XA 55,000
std=o HAE N2 AL (X&) 108,000 108,000 0
308 XX EHHSOIA 108,000 108,000 0
01 HIXNHHNBHNEES 108,000 108,000 0
OstdseH(atn=zy) 244 XJAAMY 108,000
OtsdadzZy XA 10,000 0 10,000
307 21201 A 10,000 0 10,000
10 A3l =X 2 X 10,000 0 10,000
O0ts3aEZH K& 10,000
FLAUEBSHEHE 3,882,712 3,425,274 457,438
= 767,028
J| 1,809,110
= 296,100
< 1,010,474
S22t 2L (EE) 280,000 127,000 153,000
J| 140,000
< 140,000
307 21201 A 280,000 127,000 153,000
J| 140,000
< 140,000
05 RIZt2IEt = 280,000 127,000 153,000
OdZstdy 29 X3 140,000
J| 70,000
= 70,000
Oo0lsd 8=2stdH 22 XA 140,000
J| 70,000
< 70,000
HERSHE 2 XA (XF) 70,000 53,500 16,500
J| 70,000




A 832
R R PN
e HAEBSAHE (&2 &)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
308 AXISHMSOIHA 70,000 53,500 16,500
Dl 70,000
01 HAXHHNBMNEXTS 70,000 53,500 16,500
O8E23HH 29XA 70,000
Dl 70,000
HAURMNSEZAS XNEE2AS 2 XA 8,000 10,000 A2,000
= 4,000
== 4,000
307 212t0| & 8,000 10,000 A 2,000
= 4,000
& 4,000
10 MaISXEX 8,000 10,000 A 2,000
OFAERMNBIEZAE XNGE2ASG 2SN 8,000
= 4,000
== 4,000
HAEFWNHSZIZAIYT 2008 I3 29,028 0 29,028
= 29,028
307 QI2t0| ™ 29,028 0 29,028
= 29,028
10 Al S X2 X 29,028 0 29,028
OFAEKMNEHZAIS 20 X 29,028
= 29,028
HAEFMNSIZAS 2 22,500 25,500 A 3,000
= 15,000
& 7,500
308 X SHMSOIH 22,500 25,500 A 3,000
= 15,000
== 7,500
01 HXHHIMNEXS 22,500 25,500 A 3,000
OFAERMNSIZZAIE 2F 22,500
= 15,000
= 7,500
Had HEH SYNA(DT) 107,500 117,900 £10,400
J| 53,750
o= 53,750
307 212t0| & 107,500 117,900 A 10,400
Dl 53,750
o= 53,750
10 Al S X2 X 107,500 117,900 A 10,400
OFAdaEH 29X (2H) 107,500
Jl 53,750
== 53,750
HAod & XN (XE) 468,271 496,450 N28,179
Dl 360,209
= 108,062




SN LM
R R PNEp
& FAHESHE (chel & 9l)
- _ _ RE]
SA BB (3H) - NRAY - B Ol &F o4 %@ﬁ HRE2
308 XHXIGH SO0l & 468,271 496,450 A28,179
J| 360,209
== 108,062
01 AIKISHHENEXZ 468,271 496,450 N28,179
OaAday 29X (XH) 468,271
D] 360,209
o= 108,062
HAE SESXNHHHRE(EE) 399,400 396,300 3,100
J| 223,100
o=} 176,300
307 QI2t0| ™ 399,400 396,300 3,100
J| 223,100
= 176,300
10 Al S X2 X 399,400 396,300 3,100
OFAGUESNEAA 2= 399,400
J| 223,100
& 176,300
HAE SSXFMART=E(XH) 480,000 200,000 280,000
J| 480,000
308 AHXIEHSOIA 480,000 200,000 280,000
Jl 480,000
01 AIXSHMENMNEX= 480,000 200,000 280,000
OFAGUESNEAAAHN 2= 480,000
J| 480,000
HAEMS XS ALY 423,000 393,000 30,000
=2 296,100
= 126,900
307 giztol & 423,000 393,000 30,000
= 296,100
= 126,900
10 Al SR EX 423,000 393,000 30,000
OFAEAMGD X AAS 423,000
= 296,100
= 126,900
SHNDZIUSYN(NE) 230,764 220,902 9,862
J| 115,382
o 115,382
307 QI2t0| & 230,764 220,902 9,862
J| 115,382
= 115,382
10 MM ESEXEX 230,764 220,902 9,862
OsetTEz )di2d A 230,764
J| 115,382
== 115,382
SEINZZ2O0 29 XK (X ) 83,449 83,422 27




SA OEEUB
R R PN
Chel: EAEBsSHEE (&)
SA - BB B () - MM - BES Ol &t o San HmEET
J| 83,449
308 XXM SO A 83,449 83,422 27
J| 83,449
01 IXNHHBMNEES 83,449 83,422 27
OsgX 2238 22X 83,449
J| 83,449
FCEE 2N (HEY) 209,600 156,000 53,600
J| 146,720
< 62,880
307 21201 A 209,600 156,000 53,600
J| 146,720
< 62,880
10 A2l =S X2 X 209,600 156,000 53,600
OFEHE 22X & 209,600
J| 146,720
< 62,880
FCEE 29N (X&) 136,500 136,500 0
J| 136,500
308 XX EHSOIA 136,500 136,500 0
J| 136,500
01 HIXNHHNBMNEES 136,500 136,500 0
SCEEE 24X 136,500
J| 136,500
a4 gus 23X 934,700 1,008,800 AT74,100
= 719,000
< 215,700
308 XXM SO A 934,700 1,008,800 AT4,100
= 719,000
< 215,700
01 IXNSHHBANEES 934,700 1,008,800 AT74,100
O&FAE &ts 23X 934,700
= 719,000
= 215,700
HE2IAIH (L Z =) 76,824 76,824 0
Jl23&dl 76,824 76,824 0
Jl2zl 76,824 76,824 0
201 Let24d] 20,664 20,664 0
01 At 22l 20,664 20,664 0
OJle=+=&Hl 8,688
OJlEas gl 11,976
202 o4dl 45,360 45,360 0
01 = LH &4 1l 45,360 45,360 0
OJl=0tl 45,360
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